64882 Produktubersicht Typ 0277, 4591

Cusm zwm;?>HMGT
K1521
\ﬁ \ || k1517 K152>® szs\
mm —& ‘ P1502 § > < > i >
ﬁ | A 4} ‘Lmigf B 7KEOJ | Ki518_ K152 7; o ;7 KE25
« <~ P1501 -
=3 Ei\\\\\\
T
| _—PK1202
|
| P1502
=3 i P1501
| g
°
\
\
2° |
\
\
X |
|
Cmy | }
" 42x32 mm “ PK659
Q
5%
YT
M5 x 50 mm
“LZX M J PKGSN@
| @ 7 P0O365 J
‘ V801 ‘
E====-_ S
‘r42x45mm 1 4582 | E

| ZF168
Lou%fﬁrﬂ | AN
‘r Ty ‘ |

4,2 x 32 mm V591

\ (kose KO
ﬁ‘r T (== =—=—==—=—1 Einzelnzur s . ..

301 Einkleben mit Loctite .
L4x N420 [V H P9550 || Vormontage beilegen.

- = = —=—— — = H N1501
r3.5x9,5mm | [ ®3mmjzxﬁ
@ 4,5 mm
& ®‘F77 THL

|
|

P9553
K1501 ‘ ‘
|
|

PK1501

‘\
5% N350 SW 2 —
< E ==
W/|5x50mmTh ﬁ‘ %] H\ P9552 & N1505 |
‘ \ | g 2xM5x10
M SW 4 12 x|
LO%JL —— )L 847 02 777@@ . g




64882 Produktlbersicht Typ 5293
(74553777‘ ‘ZE5045 % H 7772?507467777
K1521 < > < ;
‘ N1502\ﬁ ‘ @ ‘ K1517 K1522 K1523 ‘
‘ M4 x 8 mm —& ‘ ‘ ‘
| | P1501 IS e J@JL@L ﬂ5ﬁ@7@£ﬁ
2 | i
[ — |
r — 7
| N — PK1202
|
|
] 1
T
| P1501
|
\
\
\
\
\
\
\
|
( B297 ] b
‘ 42 x?zan? PK659
‘ 57 @”@ﬁ@mzw
.
M5 x 50 mm
PK658
xS J‘ \@
| @ - P0365 -
‘L V801 J & 4
P — — — N
r42 X 45 mm | 4582 | Einzeln zur 7ZF| GE —
110 Eall [ ' f§§ @é
‘74 2% 32 mm | |
kosse k0387 |
@5@9@ el . 1
L4X 77777 ‘ ‘
rwwmeF ***** | |
| | PK1501 |
‘Exi o N350J‘ N1505 || | |
‘R/ISXSOmmT’i | 2xM5x 10 H4‘X ‘ ‘
‘&&@JLOQSJL PR | L — = -




6488-2 Produktubersicht Typ 0278, 4594 0279, 0280, 4592

77777777777777 7 —
\ZE5°45 el 5N o } \ZE5033 o | \
@ @ H K117 1522 K1523 \ |
s i & o e S
ZE5025 &~ - Y i
| A P 2
R ' | |‘ | PO30T |
\ ‘ | ZE9421
‘ X mm !» A 7‘7 - T
R e s €
ZF9414
\ P1501\ P1502 |L777\7775WiL7J
\ b | P1505
| |
L 2 N PK1202 |
| 4584 % |
m |
] ]
| 3% Al
| 3,5x95mm
e |
\‘ ZF171 ‘\ :
C= =5 |
e : |
ZF168 :
% % |
KO386 - K0387J‘ |
‘\ ‘ZFO034 !
| |
\‘ | |
L _ Koss2 1, A |
m o R 1 PK651@\ |
‘Lox & - f - = 7‘ \ \@ |
r42x32 mm ‘7%591 T‘ PO365 ! :
\ r————
‘u‘xi @@@ngw ' 4583 j‘ \ <« - 1662.1
‘73'5)(9'5 mm | ) (2)3mmT N1502\ﬁ | PK658 | | Ax Mﬁ |
| 0| [Z s4smm | | | |
5x Y N3so swa [ Il Méxsmm —& | | | 4,2 x 45 mm |
WlsjsoimmTh j‘ SW 2,5 K1502 ‘ | | |
oS S e | Y
| E.?k@ﬁﬁﬁt? j \E/IcTan(:lonn‘f:g;e seegen ‘ ‘| 3,5 x 9,5 mm
N1501 rr — A |
EETS R N A
&L 2. \/ ' csor | < PK1501 ‘|FZF0(E4 ] SW 4 |
“49\ e »' 1| wsos | N ‘l\ h % |
5> | PP 2xmsxio | | |
b Lo omee % J!L . kogsz B3mm




6488-2 Produktlbersicht Typ 5294,5179, 5295

r42 X 32 mmiTLSEH
O

. &

7 r - ——— — — I
\ZE5045 S | N < | \255033 o
@ @ H K817 Kis22 K1523 \ | |
K1ig 77777 ! 1518 ﬂ5&@7@ﬁz5 | ‘Lmsze K1527 J
ZE75055777 S 1xli+re MNe——====F 77
- e | &
‘ ‘ P0301 ‘ ‘
| | \ PK1501 M R 5931
‘ ] ‘ ‘42x45mm Tﬁ @ T
| H | NS | |
| | |L777\7775Wi kil
% L N _
a : P1505
B
SN I EF\\\\\) PK1202 | 5
| 4584 I |
I \\E |
H » @ |
‘ 3 X : |
| 3,5x95 mm
L= |
r__ |
\‘ ZF171 ‘\ |
\ \
| E= = I |
| Koe88Ko689 . |
‘F —— — — \
ZF168 |
§§@§
KO386 - K0387J‘ |
“ Zﬁ)(ﬁ4ﬁ - |
“ g; K0352 S :
b |
o PK659 |
| N1502\ﬁ | \ \@ |
‘ M4 x 8 mm —® ‘ P0365 v l
K1502 \ \ Ll ——
2X p O | Koz | N
FE{{:;T———— | 4XM%‘
| 4,2 x 45 mm 4582 | Einzeln zur ‘
‘ ‘ Vormonje beilegen. | 4,2 x 45 mm
oA e
‘DOX z ] ‘ ‘ mkleben mit Loct|te |
|
‘L“ x & Na2o V81 T | £ X @2 “pes |
‘r375x79,57mm7 1 I 795; |
\‘ O ‘TL Qsﬂnj | K1501 H o550
ij o 7ﬁ&g\ SW 2 N1505 ||
M

T\ 2xM5x 10 H 4 x
DIN 916






